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GeomETRY (Q 4, PAPER 2)
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4 (a) |pr|=|qr|=|rs|and |£prq|=>50" P
Find
(i) |<par|
(if) [<psr]. . !
q r S

(b) Prove that a line which is parallel to one side-line of a triangle, and cuts a second

side, will cut the third side in the same proportion as the second.
X
(c) The triangle xyz is the image of the triangle

abc under the enlargement, centre o, with
|ab| = 4 and |xz| = 12. The scale factor of
the enlargement is 1.5.

(i) Find |xy]|.

12

(i) Find |ac|.

(iii) If the area of triangle abc is
12.2 square units, calculate the area of
triangle xyz.

ANSWERS
4 (a) (i) 65° (i) 25°

©) (i) 6 (ii) 8 (iiii) 27.45 square units




